
  

NOVEMBER 2021 60556/CYA5A 

Time : Three hours Maximum : 75 marks 

PART A – (10  2 = 20 marks) 

Answer any TEN questions  

1. What do you mean by management accounting? 

 ÷©»õsø© PnUQ¯À £ØÔ }ÂºAÔÁöußÚ? 

2. List out the functions of management accounting. 

 ÷©»õsø© PnUQ¯¼ß £oPøÍ¨ £mi¯¼kP. 

3. What is 'Financial statement analysis'? 

 {v°¯À AÔUøP £S¨£õ´Ä GßÓõÀ GßÚ? 

4. What is common –size statements? 

 ö£õx AÍÄ AÔUøPPÒ GßÓõÀ GßÚ? 

5. What is Ratio analysis? 

 ÂQu¨ £S¨£õ´Ä GßÓõÀ GßÚ? 

6. What do you mean by P/E ratio? 

 »õ£® DmkuÀ ÂQu® £ØÔ }Âº AÔöÁußÚ? 

7. Define-Capital structure. 

 ‰»uÚ Aø©¨¦ Áøμ¯Ö. 

8. Define working capital. 

 |øh•øÓ ‰»uÚ® Áøμ¯Ö. 

9. What are the objectives of funds flow statements? 

 {v Kmh AÔUøP°ß ÷|õUP[PÒ ¯õøÁ? 
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10. Define-Budgets. 

 ÁμÄ ö\»Ä vmh Pmk¨£õk Áøμ¯Ö. 

11. List out the types of Budgets. 

 ÁμÄ–ö\»Ä vmhzvß ÁøPPøÍ £mi¯¼kP. 

12. From the following find profit: 

Rs. 

Fixed cost 5,00,000 

Variable cost per unit 10 

Selling price per unit 15 

Output level  1,50,000 units 

 RÌÁ¸ÁÚÁØÔØS C»õ£® Psk¤i. 

¹. 

{ø»a ö\»ÄPÒ 5,00,000 

Kº A»QØPõÚ ©õÖ£k® ö\»Ä 10 

Jº A»QØPõÚ ÂØ£øÚ Âø» 15 

öÁÎ°À ö\À¾® A»SPÒ 1,50,000  

PART B – (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. Explain the nature of management accounting. 

 ÷©»õsø© PnUQ¯¼ß C¯À¦PÒ £ØÔ  ÂÁ›. 

14. State the objectives of analysis and interpretation of financial 

statements. 

 {v°¯À AÔUøPø¯ £S¨£õ´Ä ö\´uÀ ©ØÖ® öuõSzx 

AÎzu¼ß ÷|õUP[PøÍ TÖP. 
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15. Calculate the trend percentages from the following data taking 

2016 as the base: 

 (Rupees in lakhs)

 2016 2017 

Working capital 100 140

Plants equipment 1000 1,500

Long term debt 1,456 2,800

Net tangible assets 5,616 9,975

 RÌUPõq® ÂÁμ[PøÍ öPõsk 2016 B® Bsøh Ai¨£øh¯õP 

öPõsk ÷£õUS Ãu[PøÍ PõsP. 

    (¹ »m\zvÀ) 

 2016  2017

|øh•øÓ •uÀ 100 140

ö£õÔ ©ØÖ® ö£õ¸zxøP 1000 1,500

}sh Põ» Phß 1,456 2,800

{Pμ Aø\²® ö\õzxUPÒ 5,616 9,975

16. From the following information.  

  Calculate: 

 (a)  Debtors turnover ratio 

 (b) The average collection period 

Rs. 

Total sales 1,00,000 

Cash sales 20,000 

Sales returns 7,000 

Total debtors for sales as on 31.12.93 9,000 

B/R as on 31.12.93 2,000 

Provision for doubtful debt 1,000 

Trade creditors as on 31.12.93 10,000 
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 RÌUPõq® ÂÁμ[PøÍU öPõsk  

 (A) PhÚõÎPÒ _ÇØ] Ãu® 

 (B) \μõ\› Á`À Põ»® BQ¯ÁØøÓ PnUQkP. 

Rs. 
ö©õzu ÂØ£øÚ 1,00,000 
öμõUP ÂØ£øÚ 20,000 
ÂØ£øÚ v¸¨£® 7,000 

31.12.93 AßøÓ¯ ö©õzu 9,000 
PhÚõÎPÒ ÂØ£øÚ°À   
  31. 12.93 AßøÓ¯ ö\¾zuØS›¯ ©õØÖa^mk 2,000 
I¯UPhß JxUS 1,000 
ö©õzu PhÜ¢÷uõºPÒ 31.12.93 10,000 

17. Calculate cash from operations from the following P/L A/C. 
 Rs.  Rs. 

To Expenses paid 3,00,000 By Gross profit b/d 4,50,000 

To Depreciation 70,000 By Profit on sale of land 50,000 

To loss on sale of  By Dividend 4,000 

machine 4,000 By Int. on invests 6,000 

To Discount 200   

To Goodwill 20,000   

To Net profit 1,15,800   

 5,10,000  5,10,000 

 RÌUPõq® C»õ£ |mh PnUøP öPõsk öμõUP Jmh AÔUøPø¯  

PnUQkP. 

 ¹.  ¹. 

ö\»ÄPÒ ö\¾zv¯x 3,00,000 ö©õzu C»õ£® R/öPõ 4,50,000

÷u´©õÚ® 70,000 {»® ÂØÓvÀ C»õ£® 50,000

C¯¢vμ® ÂØÓvÀ |mh® 4,000 £[Põuõ¯® 4,000

uÒÐ£i 200 •u½k «x Ámi 6,000

|Øö£¯º 20,000  

{Pμ C»õ£® 1,15,800  

  

 5,10,000  5,10,000
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18. A firm produces two products called A and B. The opening 
balance of the products are 7,800 units and 8,400 units 
respectively. The estimated sales during 9 month are 14,700 
units and 15,300 units respectively. The required closing 
balances are 8,200 and 9,000 units. 

 Prepare production budget. 

 J¸ {ÖÁÚ® A  ©ØÖ® B GßÓ C¸ ö£õ¸ÒPøÍ EØ£zv ö\´QÓx. 

Auß öuõhUP C¸UP C¸¨¦ •øÓ÷¯ 7800 A»SPÒ  ©ØÖ® 8,400 

A»SPÒ  BS®. Auß Gvº£õºzx vmhªmh ÂØ£øÚ  A¢u  

9 ©õuzvÀ •øÓ÷¯ 14,700 A»SPÒ ©ØÖ® 15,300 A»SPÒ BS®. 

Gvº£õºUP¨£mh CÖv C¸¨¦PÒ •øÓ÷¯  8,200  ©ØÖ® 9000  

A»SPÒ BS®. EØ£zv vmhzøu u¯õ›UP. 

19. The following information is obtained from XY and co for 2006: 
 Sales   – Rs. 20,000 

 Variable cost  –   Rs. 10,000 
 Fixed costs  – Rs. 6,000 

 Find : 

 (a) P/V ratio 

 (b) Break even point 

 (c) Margin of safety at the current sales level  

 XY P®ö£Û°ß 2006 B® BsiØPõÚ ÂÁμ[PÒ R÷Ç 

uμ¨£mkÒÍÚ. 

 ÂØ£øÚ ¹.20,000 

 ©õÖ£k® ö\»Ä ¹.10,000 

 {ø»a ö\»ÄPÒ ¹.6,000 

 Psk¤iUP. 

 (A) C»õ£ ÂØ£øÚ AÍÄ ÂQu® 

 (B) \©{ø»¨ ¦ÒÎ 

 (C) |h¨¦ ÂØ£øÚ AÍÂØPõÚ £õxPõ¨¦ £Sv. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Write down the procedure for the preparation of fund flow 
statements. 

 {v Jmh AÔUøP u¯õ›¨£uØPõÚ ÁÈ•øÓPÒ ÂÍUSP. 
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21. The following are the income statement of Nathan & Co.Ltd for 
the year 2013 and 2014. 

 Prepare common size income statements for the two years. 

Trading and profit and loss a/c 
Particulars 2013 2014 Particulars 2013 2014 

Cost   By Sales 4,00,000 5,00,000 

of sales 2,40,000 3,50,000   

Gross     

profit C/d 1,60,000 1,50,000  – 

 4,00,000 5,00,000  4,00,000 5,00,000 

  

To operating    By gross    

Expenses:   profit b/d 1,60,000 15,000 

Administration 25,000 30,000 By Int.on   

Selling 15,000 20,000 Investment 20,000 50,000 

Distribution 10,000 10,000   

To non-operating   

Expenses   

Finance 20,000 20,000   

Good will return off 10,000   

To net profit 1,00,000 1,20,000   

 1,80,000 2,00,000  1,80,000 2,00,000 

 RÌUPõs£øÁ |õuß & ÷Põ–ß 2013 ©ØÖ® 2014–® BskUPõÚ 

Á¸©õÚ AÔUøPPÒ BS®. 

 Cμsk Á¸h[PÐUPõÚ ö£õx AÍÄ Á¸©õÚ AÔUøPø¯ u¯õº 

ö\´P. 

Â¯õ£õμ® ©ØÖ® »õ£ |mh PnUS. 

Â£μ[PÒ 2013 2014  Â£μ[PÒ 2013 2014 

ÂØ£øÚ Âø»2,40,000 3,50,000ÂØ£øÚ 4,00,000 5,00,000 

ö©õzu »õ£®   

R/C 1,60,000 1,50,000   

 4,00,000 5,00,000  4,00,000 5,00,000 
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C¯UP ö\»ÄPÒ    ö©õzu    

   C»õ£® Á/P 1,60,000 15,000 

{ºÁõP® 25,000 30,000 •u½k   

ÂØ£øÚ 15,000 20,000 «uõÚ Ámi 20,000 50,000 

£Qº¢uÎzuÀ 10,000 10,000   

C¯UPªÀ»õ ö\»ÄPÒ :   

{v 20,000 20,000   

|Øö£¯º ÷£õUS GÊv¯x 10,000 –   

{Pμ »õ£® 1,00,000 1,20,000   

 1,80,000 2,00,000  1,80,000  2,00,000 

22. From the following particulars, prepare the funds flow statement 
of Mr. Rajan for the year 2018: 

 Liabilities  Assets 

Particulars 1.1.2018 31.12.2018 Particulars 1.1.2018 31.12.2018 

Creditors 18,000 20,500 Cash 2,000 1,800 

Bank loan  Debtors 17,500 19,200 

(Long term) 15,000 22,500 Stock 12,500 11,000 

Rajan's capital 74,000 74,500 Land 10,000 15,000 

  Building 25,000 27,500 

  Machinery 40,000 43,000 

   2,000 1,800 

 1,07,000 1,17,500  1,07,000 1,17,500 

 During the year drawings by the proprietor Mr. Rajan for 
personal use, amounted to Rs.13,000. Provision for depreciation  
on machinery stood at Rs. 13,500 on Jan 1. and at Rs.18,000 on 
Dec 31.  
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 RÌUPõq® ÂÁμ[PøÍU öPõsk v¸ μõáß AÁºPÎß 2018 B® 

BsiØPõÚ {v|h©õmh AÔUøP°øÚ u¯õ›UP. 

 ö£õÖ¨¦PÒ  ö\õzxUPÒ 

Â£μ[PÒ 2005 2006 Â£μ[PÒ 2005 2006 

PhÜ¢÷uõº 18,000 20,500 öμõUP® 2,000 1,800 

Á[Q Phß PhÚõÎPÒ 17,500 19,200 

(}sh Põ»®) 15,000 22,500 \μUQ¸¨¦ 12,500 11,000 

μõáÛß •uÀ 74,000 74,500 {»® 10,000 15,000 

 18,000 20,500 Pmih® 25,000 27,500 

 C¯¢vμ[PÒ 40,000 43,000 

 1,07,000 1,17,500  1,07,000 1,17,500 

 |h¨£õsiÀ v¸. μõáß uß ö\õ¢u ö\»ÄPÐUPõP ¹.13,000 I 

Gk¨£õP Gkzuõº. C¯¢vμ® «uõÚ ÷u´©õÚ JxUS áÚÁ› 1 AßÖ 

¹.13,500 BPÄ®. i\®£º 31 AßÖ ¹.18,000 BPÄ® C¸¢ux. 

23. From the following particulars, prepare production cost budget 

for the month of Dec. 2000. 

Particulars Opening stock Closing stock

 (1.1.2000) (31.12.2000) 

Finished goods 1200 units 1600 units 

Raw material A 5000 kg 4800 kg 

Raw material B 2000 kg 3100 kg 

 (a) Budgeted sales for the month –7000 units 

 (b) Raw materials required to produce one unit-A- 4kg at Rs. 8 

per kg B-2kg  at Rs 25 perkg. 
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 RÌÁ¸® ÂÁμ[PøÍU öPõsk i\®£º 2000 ©õuzvØPõÚ  EØ£zv 

AhUP vmhzøu u¯õ›UP. 

ÂÁμ[PÒ öuõhUP \μUQ¸¨¦ CÖva \μUQ¸¨¦ 

 (1.1.2000) (31.12.2000) 

•iÄØÓ ö£õ¸mPÒ 1200 A»SPÒ 1600 A»SPÒ 

‰»¨ö£õ¸Ò A 5000 Q.Q 4800 Q.Q 

‰»¨ö£õ¸Ò B 2000 Q.Q 3100 Q.Q 

 (A) C¢u ©õuzvß vmhªh¨£mh ÂØ£øÚ 7000 A»SPÒ 

 (B) J¸ A»S EØ£zv ö\´¯ ÷uøÁ¨£k® ‰»¨ö£õ¸ÒPÒ A US 

4  Q.Q ¹.8 Jº Q÷»õ Ãu® B US 2 Q.Q ¹. 25 Jº Q÷»õ Ãu®. 

24. Reliance Battery Co. Furnishes the following information: 

 First year Second year

 Rs. Rs. 

Sales 8,10,000 10,26,000

Profit 21,600 64,800

 From the above required to compute the following assuming that 
the fixed cost remains the same in both the periods. 

 (a) P/V ratio 

 (b) Fixed cost 

 (c) The amount of profit or loss when sales are Rs. 6,48,000  

 (d) The amount of sales required to earn a profit of  
Rs. 1,08,000. 

 (e) Sales at BEP. 

 ›ø»¯ßì ÷£mh› P®ö£Û°ß uPÁÀPÒ R÷Ç 

öPõkUP¨£mkÒÍÚ. 

 •uÀ Bsk Cμshõ® Bsk

 ¹. ¹. 

ÂØ£øÚ 8,10,000 10,26,000

C»õ£® 21,600 64,800
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 ÷©÷» EÒÍ uPÁÀPøÍ öPõsk RÌÁ¸ÁÚÁØøÓ PnUQkP. 

÷©¾® Cμsk Põ»[PÎ¾® {ø»a ö\»ÄPÒ Jß÷Ó GÚU öPõÒP. 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) {ø»a ö\»ÄPÒ 

 (C) ¹.6,48,000 ÂØ£øÚ GÛÀ C»õ£® AÀ»x |mh® 

 (D) ¹.1,08,000 C»õ£® Dmh ÷uøÁ¨£k® ÂØ£øÚ 

 (E) \›\© ¦ÒÎ°À ÂØ£øÚ. 

——————–––––—  


